ETRIA O R UHEFRRER

(ER275% 9R30H BH)

[ HE3 [ &t [ & | & |t | [ B % 1 B | & | tHeH] [ B % 1 B | & | e ]
AHMR /G 10,853 5,376 5,477 5,146 E MR 21,220 10,636| 10,584 9,071 wiat X /Mt 12,336 6,457 5,879 5,211
BAHET 1,763 855 908 888 HEET AT 1,698 816 882 975 BEEEET 8,241 4178 4,063 3,374
A HET 1,825 898 927 909 KIGEHET 1,853 889 964 678 ;o 2 SERHET 627 304 323 222
FaARHET 1,654 864 790 755 =4 ) 5,288 2,530 2,758 2,174 TR ARHT 774 390 384 297
£ L#T 1,188 577 611 535 L /NHRET 925 450 475 384 T/NARET 2,479 1,470 1,009 1,234
JEET 2,778 1,372 1,406 1,373 & AT 1,657 847 810 690 J\E L HT 215 115 100 84
J\tBET 1,645 810 835 686 = RIEHE 902 444 458 354
AIRET 2,077 988 1,089 863 ERBR /G 28,077 14574| 13503 12,161
AKX /A 26,052 13414] 12638 11,617 RERE 4619 2,564 2,055 2,082 EpEL) 2,093 1,092 1,001 937
BRI ET 4,161 2,110 2,051 1,739 K IZHET 1,025 509 516 383 SRET 1,074 541 533 462
£ FH BT 1,640 844 796 832 HE A B BT 1,176 599 577 488 ] 4614 2,305 2,309 1,934
FrHHET 4,054 2,088 1,966 1,968 FEETHET 3,333 1,921 1,412 1,653
1 SHET 1,720 911 809 857 B2 X /et 13,676 6,848 6,828 5,275 7 Bl A T 2,920 1,525 1,395 1,381
INGARHT 2,018 1,081 937 951 KEHMT 2,206 1,098 1,108 920 A RHET 1,741 885 856 756
X BHE] 1,148 628 520 557 ¥ 270 128 142 121 i B HT 7,429 3,817 3,612 3,143
REBHT 3,032 1,529 1,503 1,145 #54 AT 1,837 891 946 764 Al FTET 897 504 393 402
ES 3,360 1,713 1,647 1,427 B LAY 177 91 86 73 i EEHT 808 393 415 272
A4 BT 4919 2,510 2,409 2,141 bibadi) 1,054 543 511 393 pagadi] 328 164 164 110
Bl LR 2,999 1,524 1,475 1,255 FaE AR 230 113 117 72
REFHR /NG 24014 12,146| 11,868 9,891 5L T 1,204 595 609 480 L HERT 533 273 260 207
f2iRET 799 395 404 288 BILTHT 1,117 560 557 466 b AR ET 791 399 392 299
= RET 1,392 700 692 536 35, 78 T 2,812 1,418 1,394 803 T H B HT 1,286 642 644 533
4 RET 2,706 1,319 1,387 1,083
sl 896 455 441 358 WP R /NG 7,812 3,823 3,989 2,943 EE AR/ 12,862 6,518 6,344 5,137
EiE) BT 3,609 1,899 1,710 1,529 IR AT 2,981 1,438 1,543 1,094 BRETHET 2,214 1,177 1,037 977
TERET 2,674 1,409 1,265 1,178 i 3Eal:iy 865 436 429 323 Ja R ET 33 16 17 12
HH X BT 2,034 1,006 1,028 838 EiEET 572 283 289 214 = AEET 1,098 558 540 436
HKIRHET 269 138 131 101 b FHET 176 83 93 68 [RTEET 831 416 415 338
= AR ET 1,954 984 970 801 s T 667 331 336 249 FRHET 546 277 269 225
= AT E] 1,002 506 496 417 e 873 446 427 311 2 _EHT 2,480 1,229 1,251 913
= A ET 1,294 627 667 525 X R HT 569 275 294 234 ThiGHET 2,029 1,051 978 821
= A ILET 1,013 504 509 434 HiEET 648 312 336 288 =& 557 278 279 203
=R EE] 704 361 343 293 REHT 204 100 104 69 S RET 1,153 578 575 457
EES=1) 2,146 1,108 1,038 886 LR FHT 257 119 138 93 KA YRHET 361 174 187 138
KRILHET 1,522 735 787 624 = RET 944 461 483 371
S, LT 616 303 313 246




ETRIA O R UHEFRRER

(ER275% 9R30H BH)

[ GE2 [ &t [ & | & |t | [ GE2 5 & | e | | HE2 5 Z_ | e |
EER/IG 8,842 4474 4,368 3,504 AUy X /NG 9,929 5,001 4,928 3,931 EIR AR BT X /NEE 21,777 10,957| 10,820 8,219
E ST 1,150 588 562 528 1 RIS BT 7,173 3,625 3,548 2,886 ERIRET 6,012 2,973 3,039 2,285
BAT ARG HT 336 166 170 133 ¥ H T HET 1,784 891 893 689 1L 22 #e T 2,123 1,064 1,059 833
ST 1,417 715 702 565 1 H T T HAT 259 124 135 96 =1l 160 87 73 72
& a1 SET 97 49 48 46 FHSER 129 65 64 42 AIRET 11,575 5,836 5,739 4,335
R ET 301 154 147 96 1 H FRYEET 584 296 288 218 T RHE 696 364 332 259
Y& O AT 642 313 329 242 KA RET 1,211 633 578 435
Bl/NEHET 277 139 138 98 & mb R /at 10,080 5,048 5,032 3,690
ZYINERT 219 118 101 75 $H 47 HET 2,567 1,285 1,282 898
HESHT 278 131 147 97 B/ FET 1,623 852 771 624
Al SHT 147 71 76 56 T AT 2,211 1,060 1,151 862
& [FHET 1,777 918 859 745 i = ETHT 864 426 438 314
AEEET 506 250 256 193 $ H T ET 409 212 197 159
REFH 542 274 268 203 T H 2 537 EET 73 39 34 24
AFHT 124 61 63 48 FHETHEE 601 291 310 235
Gl 571 294 277 244 $H/NEET 44 22 22 21
39 HITET 458 233 225 135 FTHXEH 22 11 11 9
AT 1,666 850 816 544
it B B X /Mgt 5,192 2,579 2,613 1,861
it B HE] 3,059 1,536 1,523 1,070 RITHORR /N 10,045 5219 4,826 3,938
#4)I| ET 1,462 714 748 553 FrH KRR 1,589 806 783 584
HRHET 365 174 191 136 ¥H T AT 1,594 778 816 602
=iy 218 111 107 73 ¥ H T H T 729 368 361 263
/1N R BT 88 44 44 29 FHRESIFAT 541 284 257 212
$TH |+ HA T 1,407 714 693 493
FrEEGEME 81 41 40 27
v _Echlr 392 188 204 132
AT 145 72 73 51
¥ H KET 477 239 238 171
¥ H = RET 314 223 91 222
TS FHE 557 272 285 198
¥t FRET 174 92 82 64 it E: ES T
HHAE)IET 2,045 1,142 903 919 =L 222,767] 113,070/ 109,697| 91,595




